


Parts List for GF33PT Type 0

Item Number Part Number Description Qty Required

1 9R192101 HEX. SOCKET HD. BOLT 1

2 9R192102 TOP COVER 1

3 9R192103 FILTER 1

4 9R192104 MOTOR 1

5 9R192105 RUBBER WASHER 1

6 9R192106 ROLL PIN  D2.5X25 1

7 9R192107 MOTOR MOUNT 1

8 9R192108 MOUNT SLEEVE 1

9 9R192109 SHAFT WASHER 1

10 9R192110 SPARK PLUG (A) 1

11 9R192111 MOTOR SPRING 1

12 9R192112 HEX. SOCKET HD. BOLT 2

13 9R192113 CYLINDER HEAD ASS'Y 1

14 9R192114 O-RING (I.D 59.92) 1

15 9R192115 NUT M4 2

16 9R192116 WASHER M4 2

17 9R192117 FAN 1

18 9R192118 HEX. SOCKET HD. BOLT 1

19 9R192119 CHAMBER HEAD 1

20 9R192120 GASKET (B) 1

21 9R192121 CHAMBER 1

22 9R192122 PLUNGER O-RING 1

23 9R192123 SHAFT RING 1

24 9R192124 BOLT WASHER M5 2

25 9R192125 SHAFT 1

26 9R192126 MACHINE SCREW M4X6 3

27 9R192217 WIRING PLATE 1

Page 1

COPYRIGHT© 2005. All Rights Reserved.
Parts list, pricing, and availability subject to change.  Please visit www.dewaltservicenet.com for current parts information.

http://www.dewaltservicenet.com


Parts List for GF33PT Type 0

Item Number Part Number Description Qty Required

28 9R192127 ADAPTER 1

29 9R192128 HEX. SOCKET SET SCRE 1

30 9R192222 SHAFT COVER 1

31 9R192223 WASHER 1

32 9R192129 CHAMBER LOCK PLATE 1

33 9R192130 PIN (A) 1

34 9R192131 SWITCH PLATE 1

35 9R192132 O-RING (I.D. 66.27) 1

36 9R192133 RETAINING RING 1

37 9R192134 PISTON RING 2

38 9R192349 PISTON 1

39 9R192136 PISTON BUMPER 1

40 9R192137 CHAMBER STOP RUBBER 2

41 9R192138 CYLINDER ASS'Y 1

42 9R192228 SEAL LOCK HEX. SOCKE 1

43 9R192140 BUFFER COVER (A) 1

44 9R192141 LEAD VALVE 1

45 9R192221 SEAL LOCK SCREW M4X6 1

46 9R192142 MUFFLER 1

47 9R192229 BLADE GUIDE 1

48 9R192144 PLATE SLEEVE 1

49 9R192335 SIDE PLATE 1

50 9R192146 SPECIAL NUT M5 1

51 9R192147 NYLOCK HEX.SOCKET HD 1

52 9R192148 NOSE SLEEVE 1

53 9R192150 BELLEVILLE SPRING M4 2

54 9R192154 CYLINDER PLATE 1

Page 2

COPYRIGHT© 2005. All Rights Reserved.
Parts list, pricing, and availability subject to change.  Please visit www.dewaltservicenet.com for current parts information.

http://www.dewaltservicenet.com


Parts List for GF33PT Type 0

Item Number Part Number Description Qty Required

55 9R192155 SEAL LOCK HEX. SOCKE 1

56 9R192152 PUSHING LEVER SPRING 1

57 9R192156 U-NUT M4 1

58 9R192139 SEAL LOCK HEX. SOCKE 2

59 9R192151 PUSHING LEVER ARM (C 1

60 9R192153 PUSHING LEVER CONNEC 1

61 9R192157 PUSHING LEVER ARM (D 1

62 9R192158 HEX. SOCKET HD. BOLT 1

63 9R192159 PUSHING STOPPER 1

65 9R192163 SCREW M5 1

66 9R192164 HOUSING (A) 1

67 9R192161 ADJUSTER BUSH (A) 1

68 9R192160 PUSHING LEVER(A) 1

69 9R192166 PROTECTOR(A) 4

70 9R192168 NYLON NUT M4 1

71 9R192169 HEX. SOCKET HD. BOLT 1

72 9R192170 SLEEVE 1

73 9R192171 TAPPING SCREW (W/FLA 2

74 9R192175 TAPPING SCREW (W/FLA 1

75 9R192176 SWITCH MOUNT 1

76 9R192177 SWITCH ARM 1

78 9R192351 HANDLE(D) ASS'Y 1

80 9R192178 PRISM (A) 1

81 9R192186 CHAMBER LOCK BAR 1

82 9R192185 TRIGGER SPRING (A) 1

83 9R192187 PIN D2.5 1

84 9R192188 TRIGGER INTERNAL WIR 1

Page 3

COPYRIGHT© 2005. All Rights Reserved.
Parts list, pricing, and availability subject to change.  Please visit www.dewaltservicenet.com for current parts information.

http://www.dewaltservicenet.com


Parts List for GF33PT Type 0

Item Number Part Number Description Qty Required

85 9R192220 WIRING PLATE (B) 1

86 9R192219 TAPPING SCREW D3 2

87 9R192218 HOOK (B) 1

88 9R192189 NYLON NUT M5 1

89 9R192336 NAIL RAIL 1

90 9R192338 MAGAZINE PLATE 1

91 9R192184 TAPPING SCREW (W/FLA 2

92 9R192182 CONTROLLER 1

93 9R192180 WIRING COVER 1

94 9R192179 LOCK BAR SPRING 1

95 9R192181 FLAT HD. TAPPING SCR 1

96 9R192193 LATCH 1

97 9R192194 ROLL PIN D2X8 1

98 9R192195 SPRING D3.6 1

99 9R192196 CELL COVER 1

100 9R192214 TAPPING SCREW (W/FLA 1

102 9R192197 CELL RUBBER (A) 1

103 9R192202 SPRING 1

104 9R192203 SWITCH LEVER (B) ASS 1

105 9R192200 NAIL FEEDER (A) 1

106 9R192201 TENSION PLATE (C) 1

107 9R192205 LEVER STOPPER 1

108 9R192192 CELL LEVER (A) 1

109 9R192206 ROLL PIN D4X28 1

110 9R192224 SLEEVE 1

111 9R192207 SPRING 1

112 9R192339 NAIL FEEDER (B) 1

Page 4

COPYRIGHT© 2005. All Rights Reserved.
Parts list, pricing, and availability subject to change.  Please visit www.dewaltservicenet.com for current parts information.

http://www.dewaltservicenet.com


Parts List for GF33PT Type 0

Item Number Part Number Description Qty Required

113 9R192209 RIBBON SPRING 1

114 9R192340 PUSHING LEVER STOPPE 1

115 9R192210 SPRING D8 1

116 9R192216 MAGAZINE GUARD 1

117 9R192215 HEX. SOCKET HD. BOLT 1

118 9R192350 HANDLE(C) 1

119 9R192398 FEEDER KNOB 1

COPYRIGHT© 2005. All Rights Reserved.
Parts list, pricing, and availability subject to change.  Please visit www.dewaltservicenet.com for current parts information.

Page 5

http://www.dewaltservicenet.com

